®
ar r Compact Conveyor System
Kompakt-Foraerbana-System
300-0010 AAX
‘ B L1 50 75 100 | Li=
380 65 115 165
620 90 140 190
5830 110 160 210
S140 110 160 210
5220 250 300 350
H MAX
B L2] 50 75 100 | L2=..
380 15 40 65
620 10 35 60
5830 10 35 60
L1 S140 10 35 60
! 5220 10 35 60
300-0040 A
B L1 50 75 100 | Li=
e ‘ $380 10 60 110
5 620 35 85 135
B 830 55 105 155
« S140 55 105 155
- 5220 195 245 295
H MAX
B ~L2] 50 75 100 | L2=..
@ 380 25 50 75
| 620 20 45 70
5830 20 45 70
S140 20 45 70
L1 $220 20 45 70
A MAX
300-0060 BL1] 5 | 75 | 10 | Ui=
| 380 20 70 120
‘ 620 45 9 145
5830 65 115 165
S140 65 115 165
5220 205 255 305
H MAX
B L2]| 100 125 150 | Le=..
380 35 60 85
620 30 55 80
5830 30 55 80
$140 30 55 80
L1 | 5220 30 55 80
CHANGE WITHOUT NOTICE 300-0-10-B



®
// II[ ar r Compact Conveyor System
Kompakt-Foraerbana-System
300-0100
© AMAX
~ 1] 50 75 100 | Ul=..
$380 70 120 170
$620 95 145 195
ID S830 120 170 220
S140 120 170 220
5220 260 310 360
L1
300-0110
AMAX
< 1] 50 75 100 | Li=..
o 5380 135 185 235
5620 160 210 260
[ ﬂ 5830 185 135 285
1] 140 185 135] 285
$220 325 375 425
L1
300-0125
‘ AMAX
| S L1| 50 75 100 L1=...
$380 115 165 215
L $620 140 190 240
ID S830 160 210 260
S140 160 210 260
5220 200 250 300
L1
CHANGE WITHOUT NOTICE 300-0-11-B



300-0800
o B AMAX | HMAX
> $380 75 55
$620 100 50
S830 120 50
S$140 120 50
$220 260 50
90 B
300-0820 | A
.
B
S T
B AMAX | HMAX
$380 75 115
$620 100 110
$830 120 110
\Iﬂ $140 120/ 110
$220 260 110
90 B
300-0840 A
I B AMAX | HMAX
S T
S380 195 55
$620 220 50
$830 240 50
Iﬂ 5140 240 50
$220 380 50
90 B
CHANGE WITHOUT NOTICE 300-0-12-B



/1L arragfim

C‘ompacf Conveyor System
Kompakt-Forderbana-System

300-0860

150

300-0880

L (MIN 200)

B AMAX | HMAX
§380 195 115
S620 220 110
S830 240 110
S140 240 110
S220 380 110
A MAX
B 200 225 250 L1=..
S380 295 345 395
S620 320 370 420
S830 340 390 440
$140 340 390 440
| §220 480 530 580
B H MAX
S380 55
S620 50
S830 50
$140 50
§220 50

CHANGE WITHOUT NOTICE

300-0-13-B




/L arry

/1)

®

Compact Conveyor System
Kompakt-Foraerbana-System

300-0900

150

A MAX
B L| 200 225 250 L1=...
S380 295 345 395
S620 320 370 420
S830 340 390 440
(q S140 340 390 440
S220 480 530 580
B H MAX
L (MIN 200) 5360 115
‘ S620 110
S830 110
S140 110
S220 110
A
=
8 .
B AMAX | HMAX
S380 410 55
S620 435 50
S830 455 50
S$140 455 50
S220 595 50
260 B
CHANGE WITHOUT NOTICE 300-0-14-A



N ®
ar r l”E Compact Conveyor System
Kompakt-Forderbana-System
A
300-0940
§ T
B AMAX | HMAX

2 S380 410 115
Iﬂ S620 435 110
S830 455 110
$140 455 110
S220 595 110

260 B

300-0960 A

B
>
§ T
B AMAX | HMAX

. d S380 40| 225
ID S620 435 220
S830 455 220
$140 455 220
S220 595 220

260 B

CHANGE WITHOUT NOTICE 300-0-15-A



®

N
l”E Compact Conveyor System
Kompakt-Forderbana-System

/i arry

300-1000 D
i © ED—J s
RACKESFASTE . I N =
GUIDE RAIL SUPPORT = J
SEITENFUHRUNGSTRAGER
27 M8
30
™
300-1010 - 8
RACKESFASTE — B R
GUIDE RAIL SUPPORT S
SEITENFUHRUNGSTRAGER [ 1
13 213
218 30
300-1020 )

) . = | |
RACKESFASTE ) —
GUIDE RAIL SUPPORT -

SEITENFUHRUNGSTRAGER N
213
2.2 22 30
300-1030 m* G - Dj
RACKESFASTE © l\f
GUIDE RAIL SUPPORT S i -
SEITENFUHRUNGSTRAGER —H gi
22

CHANGE WITHOUT NOTICE 300-1-1-A



[ 4 ®
ar r l” Compact Conveyor System
Kompakt-Foraerbana-System
.HJ
300-1035
- 0
RACKESFASTE 25.5 MM N\
GUIDE RAIL SUPPORT 25.5 MM
SEITENFUHRUNGSTRAGER 25.5 MM " 18
W
300-1036
RACKESFASTE 41 MM ~
GUIDE RAIL SUPPORT 41 MM ™
SEITENFUHRUNGSTRAGER 41 MM
218
30
26
300-1037 @
RACKESFASTE FOR 300-3050 OCH 300-3060 - 3 &
GUIDE RAIL SUPPORT FOR 300-3050 AND 300-3060 —
SEITENFUHRUNGSTRAGER FUR 300-3050 UND 300-3060
o8
300-1-2-C

CHANGE WITHOUT NOTICE



N ®
ar ’ l” Compact Conveyor System
Kompakt-Foraerband-System
018 30
300-1040 )
RACKESFASTE o B
GUIDE RAIL SUPPORT @ [@ j
SEITENFUHRUNGSTRAGER
26 018
59
300-1045 =
RACKESFASTE Q %i ©
GUIDE RAIL SUPPORT |
SEITENFUHRUNGSTRAGER ™~
Q
300-1050 T i
RACKESFASTE 3
GUIDE RAIL SUPPORT
SEITENFUHRUNGSTRAGER o — 1! ©
Q
< /\
1S
12 30
300-1055
RACKESFASTE
GUIDE RAIL SUPPORT o
SEITENFUHRUNGSTRAGER 5 -
<t
=1
u )
s
300-1-3-B

CHANGE WITHOUT NOTICE



Wl ET

e

Kompakt-Forderbana-System

®
Compact Conveyor System

300-1060

RACKESHALLARE
GUIDE RAIL BRACKET
SEITENFUHRUNGSHALTER

300-1070

RACKESHALLARE
GUIDE RAIL BRACKET
SEITENFUHRUNGSHALTER

300-1080

300-1080 ERSATT AV 300-1090
300-1080 REPLACED BY 300-1090
300-1080 ERSETZEN MIT 300-1090

300-1090

RACKESHALLARE
GUIDE RAIL BRACKET
SEITENFUHRUNGSTRAGER

N
(o)

25

ﬂ
’ 72
. %ﬂvi %
ﬂ
[¥%jﬁJ ame
e | L/
%\Tﬁ %
o0
gﬁ o

CHANGE WITHOUT NOTICE

300-1-4-B



®

Compact Conveyor System
Kompakt-Foraerbana-System

/1)

il ETl

35 30
N
300-2030 D@Q 5 [
DISTANS 30 MM —
SPACER 30 MM
DISTANZ 30 MM
40 9
300-2040
S s | [+
ADAPTERPLATTA
ADAPTER PLATE
ADAPTERPLATTE 35
| 9 B o
~
‘ @85
300-2090 3 L/ -
VINKELFASTE 90 MM ’ R
ANGLE BRACKET 90 MM 175
BEFESTIGUNGSWINKEL 90 MM T
4 [ ] L)
Jl iyl
64
150 | B o
‘ =
300-2150
; o
VINKELFASTE 150 MM 3 [/ el
ANGLE BRACKET 150 MM o Vi
BEFESTIGUNGSWINKEL 150 MM 085 175
Vilmfiey
[ ) >
Vi line] ‘
‘ 124
300-2-1-B

CHANGE WITHOUT NOTICE



®

[ |
l”E Compact Conveyor System
Kompakt-Forderbana-System

/L arry

% 30
300-2160 L o J
. . «©
RACKESHALLARE TILL S620 P 1 H L — <
GUIDE RAIL BRACKET FOR 8620 T =
SEITENFUHRUNGSHALTER FUR S620 o §
i ¢

260

300-2260

RACKESHALLARE 260 MM
GUIDE RAIL BRACKET 260 MM
SEITENFUHRUNGSHALTER 260 MM

\
K

11

—

38

—

100

CHANGE WITHOUT NOTICE 300-2-2-B



®

N
l”E Compact Conveyor System
Kompakt-Forderbana-System

/L arry

300-3000 fﬂ
-

RACKESROR
GUIDE RAIL Z
FUHRUNGSROHR
@13
218

RACKESROR L=X
GUIDE RAIL L=X
FUHRUNGSROHR L=X

300-3001 f%
S

@18

300-3010 [ =
RACKESROR MED GLIDLIST =
GUIDE RAIL WITH SLIDE RAIL K
FUHRUNGSROHR MIT GLEITSTREIFEN

19

300-3011 s -
NN

RACKESROR MED GLIDLIST L=X

&
GUIDE RAIL WITH SLIDE RAIL L=X
FUHRUNGSROHR MIT GLEITSTREIFEN L=X
19

@18

CHANGE WITHOUT NOTICE 300-3-1-A



Wl El

/1)

®

Compact Conveyor System
Kompakt-Foraerbana-System

300-3020

RACKESPROFIL
GUIDE RAIL
FUHRUNGSPROFIL

300-3030

RACKESPROFIL
GUIDE RAIL
FUHRUNGSPROFIL

300-3040

RACKESPROFIL
GUIDE RAIL
FUHRUNGSPROFIL

300-3045

PLASTLIST TILL RACKESPROFIL 300-3040
PLASTIC STRIP FOR GUIDE RAIL 300-3040
KUNTSTOFF STREIFEN FUR FUHRUNGSPROFIL 300-3040

@18

) 30

45

30

()]

-
S

2
40

CHANGE WITHOUT NOTICE

300-3-2-B



/1)

/L arry

®

Compact Conveyor System
Kompakt-Foraerbana-System

300-3047

PLASTLIST TILL RACKESPROFIL 300-3040
PLASTIC STRIP FOR GUIDE RAIL 300-3040
KUNTSTOFF STREIFEN FUR FUHRUNGSPROFIL 300-3040

300-3050

RACKESPROFIL FOR PALETT 200-7020
GUIDE RAIL FOR PALETT 200-7020
FUHRUNGSPROFIL FUR PALETTE 200-720

300-3060

RACKESPROFIL FOR PALETT
GUIDE RAIL FOR PALETT
FUHRUNGSPROFIL FUR PALETTE

1
el o
N (o)
L
17.75
=
o
22
8
o

CHANGE WITHOUT NOTICE

300-3-3-C



/L arry

/1)

®

Compact Conveyor System
Kompakt-Foraerbana-System

300-3061

BORSTE 40x8 MM
BRUSH 40x8 MM
BURSTE 40x8 MM

300-3062

BORSTE 60x5 MM
BRUSH 60x5 MM
BURSTE 60x5 MM

300-3065

FASTE F-PROFIL FOR 300-3062
BRACKET F-PROFILE FOR 300-3062
BEFESTIGUNG F-PROFIL FUR 300-3062

300-3066

FASTE H-PROFIL FOR 300-3062
BRACKET H-PROFILE FOR 300-3062
BEFESTIGUNG H-PROFIL FUR 300-3062

1000

40

2000

60

2000

2000

L 1 8 Il
5

23

CHANGE WITHOUT NOTICE

300-3-4-D



N ®
a’ r l” Compact Conveyor System
Kompakt-Foraerbanad-System
1000 15
300-3067 — ]
(o>}
FASTE F-PROFIL FOR 300-3061 N [
BRACKET F-PROFILE FOR 300-3061 |
BEFESTIGUNG F-PROFIL FUR 300-3061 o
1000
300-3068 )
FASTE H-PROFIL FOR 300-3061 <
BRACKET H-PROFILE FOR 300-3061 « o
BEFESTIGUNG H-PROFIL FUR 300-3061 L=
300-3-5-8

CHANGE WITHOUT NOTICE



®

Compact Conveyor System
Kompakt-Foraerbana-System

/1)

il ETl

300-3070 o || «

- [ [S]

ANDPROPP FOR ROR 300-3000 OCH 300-3040 |

END CAP FOR TUBE 300-3000 AND 300-3040

ENDDECKEL FUR ROHR 300-3000 UND 300-3040 16.5 3
10 R11

A R
300-3075 f ﬂ
ANDPROPP FOR ROR 300-3010 OCH 300-3040 K éj

END CAP FOR TUBE 300-3010 AND 300-3040
ENDDECKEL FUR ROHR 300-3010 UND 300-3040

2
50
25 R9

300-3091

A : i
SKARVHYLSA FOR RACKESROR
300-3000 OCH 300-3010 N A |
CONNECTING SLEEVE FOR GUIDERAIL (D (D
300-3000 AND 300-3010
VERBINDUNGSHULSE FUR FUHRUNGSPROFIL —
300-3000 UND 300-3010 /

8 34 R11.50

12
300-3095 @Iﬂ

SKRUV TILL SKARVHYLSA 300-3090
SCREW FOR CONNETING SLEEVE 300-3090 0
SCHRAUBE FUR VERBINDUNGSHULSE 300-3090

CHANGE WITHOUT NOTICE 300-3-6-B



®

Compact Conveyor System
Kompakt-Foraerbana-System

/1)

/L arry

218

T 10 B
300-3200 @ -
RACKESHALLARE | N _ g 8
GUIDE RAIL BRACKET @ i
SEITENFUHRUNGSHALTER ] O

16
35
62

12

300-3250
STJARNVRED M8
HANDWHEEL M8
STERNGRIFF M8 -

12

15

300-3260 "
STJARNVRED M8 x 15 MM H < -
HANDWHEEL M8 x 15 MM
STERNGRIFF M8 x 15 MM

FL.
300-3300
LASSPAK M8 x 20 MM
CLAMPING LEVER M8 x 20 MM
KLEMMHEBEL M8 x 20 MM

H
.

)

-

M8

M8

77

M8

CHANGE WITHOUT NOTICE 300-3-7-A



®

Compact Conveyor System
Kompakt-Foraerbana-System

/1)

/L arry

NV19
300-4010
DISTANSROR S )
SPACERTUBE S W
DISTANZROHR e
NV19
300-4011
-- sl S0
DISTANSROR L=X S <
SPACERTUBE L=X A&
DISTANZROHR L=X ] o7
8

300-4020
STODBRICKA FOR 300-4010

25
BRACKET FOR 300-4010 /// \

STUTZHALTER FUR 300-4010

<

020
‘ 28
/]
o
| 50

300-4030
ANDPROPP FOR ROR 300-3040
END CAP FOR TUBE 300-3040 S
ENDDECKEL FUR ROHR 300-3040
~ i
Q
10 3

CHANGE WITHOUT NOTICE 300-4-1-A



